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QUESTION 1

Which OpenStack component is responsible for managing virtual networks and determining the ID of the server that the
VM IP address.

A. Nova

B. Neutron

C. Cinder

D. NetMatrix
Correct Answer: A

Reference: https://docs.openstack.org/nova/queens/admin/networking-nova.html

QUESTION 2

Which of the following descriptions are true about SDN? (Choose all that apply.)
A. SDN is OpenFlow.

B. SDN supports forwarding-control separation.

C. SDN provides programmable open interfaces.

D. SDN is short for software-defined networking.

Correct Answer: BCD

QUESTION 3

In OSPF, which of the following statements is true within a given area (area A)?

A. The LSA generated by each router is the same.

B. The LSDB of area A of each router is the same.

C. The shortest path tree calculated based on the LSDB of each router is the same.
D. The route calculated based on each router\\'s shortest path tree is the same.

Correct Answer: C

QUESTION 4

SDN advocates overlay service cloudification and underlay hardware standardization.
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A. TRUE
B. FALSE
Correct Answer: A

Reference: https://www-file.huawei.com/-/media/corporate/pdf/publications/communicate/79/issue79en.pdf

QUESTION 5

SNMP uses connectionless UDP as the transmission protocol, whereas NETCONF uses connection-oriented TCP.
A. TRUE

B. FALSE

Correct Answer: B

Reference: https://support.huawei.com/enterprise/en/doc/EDOC1000102491?section=k006
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